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In the following question, some part
of the sentence may have errors.
Find out which part of the sentence
has an error and select the
appropriate option. I a sentence is
free from error, select ‘No Error’.

A. 1 B, 2
o 3 L. 4
c

In the following question, some part
of the sentence may have errors.
Find out which part of the sentence
has an error and select the
appropriate option. If a sentence is
free from error, select ‘No Error’.

A. il B. 2

C. 3 D. 4

C

In the following question, the

sentence given with blank to filled in
with an appropriate word. Select the
correct alternative out of the four and
indicate it by selective the
appropriate option.

A. upon B. up

C. in D. into
A

In the following question, the

sentence given with blank to be filled
in with an appropriate word. Select
the correct alternative out of the four
and indicate it by selecting the
appropriate option.

Sun is a perfect sphere of
hot plasma, with internal convective
motion that generates a magnetic
field.

A. nearly B. near
E. about D. more
A

In the following question, out of the
given four alternatives, select the
one which best expresses the
meaning of the given word.

Hybrid

A. Homogeneous
B. Composite

C. Pure

D. Love

B

Ans.

Ans.

Ans.

Ans.

10.

In the following question, out of the
given four alternatives, select the
one which best expresses the
meaning of the given word.

Discreet

A. Described
B. Careful

C. Rash

D. Mundane
B

In the following question, out of the
given four alternative, select the one
which is opposite in meaning of the

given word.
Heed

A. Care

B. Caution
G Attention
D. Neglect
D

In the following question, out of the
given four alternatives, select the
one which is opposite in meaning of
the given word.

Articulate

A. Unclear
B. Enunciate
C. Eloquent
D. coherent
A

Rearrange the parts of the sentence
in correct order.

All the sound reasons

P: ever given for conserving

Q: to the conservation of wildlife

R: other natural resources apply

A PRQ B. RQP
C PQR D. QRP
A

A sentence has been given in
Active/Passive Voice. Out of four
given alternatives, select the one
which best express the same
sentence in passive/Active Voice.

She will finish the thesis in a

fortnight.

A. The thesis would be finished
in a fortnight by her.

B. The thesis will finished by her
in a fortnight.

C. The thesis will be finished by

her in a fortnight.



Ans.

11.

Ans.

D. A fortnight is required to
finish the thesis.

C

A sentence has been given in

Direct/Indirect Speech. Out of the

four given alternatives, select the

one which best expresses the same

sentence in Indirect/Direct Speech.

"I know her well” said Manisha.

A. Manis ha said that she knew
her well.

B. Manisha said if she knows her
well.

C. Manisha said that she knows
her.

D. Manisha says that she knew
her well.

A

In the following question, a word has
been written in four different ways
out of which only one is correctly
spelt. Select the correctly spelt word.
Commiety

Committee

Comittee

Commitee

B

In the following passage, some of the
words have been left out. Read the
passage carefully and select the
correct answer for the given blank
out of the four alternatives.

Now, what exactly does big business
want? Though they cite some
worded performance
indicators to compile the index, the
true intention appears to be

something . They
want land at throwaway prices even
it is fertile

agriculture land; they want licenses
to be issued immediately even if the
proposed activities are likely to result
in environmental

they want Ilabour laws to be
favourable to them so it becomes
easy to hire fire and
exploit workers; and they want the
government to respond favourably to
their ‘bailout’ demands from time to
time so they can transfer their risk
on to taxpayers, notwithstanding the
fact that they enjoyed their profits
during their heyday.
they cite some
worded performance
A. cleverly

=] ~laviarar

Ans.

14,

Ans.

15.

C. cleverest
D. cleverness
A

In the following passage, some of the
words have been left out. Read the
passage carefully and select the
correct answer for the given blank
out of the four alternatives.

Now, what exactly does big business
want? Though they cite some
worded performance
indicators to compile the index, the
true intention appears to be

something . They
want land at throwaway prices even
it is fertile

agriculture land; they want licenses
to be issued immediately even if the
proposed activities are likely to result
in environmental

they want labour laws to be
favourable to them so it becomes
easy to hire fire and
exploit workers; and they want the
government to respond favourably to
their ‘bailout’ demands from time to
time so they can transfer their risk
on to taxpayers, notwithstanding the
fact that they enjoyed their profits
during their heyday.

something . They
want land at

A. other B. extra
C. added C. else

D

In the following passage, some of the
words have been left out. Read the
passage carefully and select the
correct answer for the given blank
out of the four alternatives.
Now, what exactly does big business
want? Though they cite some
worded performance
indicators to compile the
index, the true intention appears to

be something . They
want land at throwaway prices even
it is fertile

agriculture land; they want licenses
to be issued immediately even if the
proposed activities are likely to result
in environmental

they want labour laws to be
favourable to them so it becomes
easy to hire fire and
exploit workers; and they want the
government to respond favourably to
their ‘bailout’ demands from time to
time so thev can transfer their risk




Ans.

16.

Ans.

17,

on to taxpayers, notwithstanding the
fact that they enjoyed their profits
during their heyday.

prices even it is
fertile agriculture land;

if B. then

but D- also

A

In the following passage, some of the
words have been left out. Read the
passage carefully and select the
correct answer for the given blank
out of the four alternatives.

Now, what exactly does big business
want? Though they cite some
worded performance
indicators to compile the index, the
true intention appears to be

something . They
want land at throwaway prices even
it is fertile

agriculture land; they want licenses
to be issued immediately even if the
proposed activities are likely to result
in environmental

they want labour laws to be
favourable to them so it becomes
easy to hire fire and
exploit workers; and they want the
government to respond favourably to
their ‘bailout” demands from time to
time so they can transfer their risk
on to taxpayers, notwithstanding the
fact that they enjoyed their profits
during their heyday.

environmental ;
they want labour laws

A. degrade

B. degrading

Ce degraded

D. degradation

D

In the following passage, some of
the words have been left out. Read
the passage carefully and select the
correct answer for the given blank
out of the four alternatives.

Now, what exactly does big business
want? Though they cite some
worded performance

indicators to compile the index, the
true intention appears to be

something . They
want land at throwaway prices even
it is fertile

agriculture land; they want licenses
to be issued immediately even if the
proposed activities are likely to result
in environmental

Ans.
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Ans.

20.

Ans.
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they want Ilabour laws to be
favourable to them so it becomes
easy to hire fire and
exploit workers; and they want the
government to respond favourably to
their ‘bailout’” demands from time to
time so they can transfer their risk
on to taxpayers, notwithstanding the
fact that they enjoyed their profits
during their heyday.

easy to hire fire and
exploit

and B. if

thus D. SO

A

In the following question, out of the
four alternatives, select the
alternative which best expresses the
meaning of the idiom/phrase.

After one's own heart

A. Sharing or having one's
tastes or views.

B. Infatuation with a person
which is not re ciprocated.

iz, Memorise some thing by
heart.

D. Don’t have the courage to do
so mething bad for a good
person.

A

In the following question, out of the
four alternatives, select the
alternative which best expresses the
meaning of the idiom/phrase.

Pull the wool over someone's eyes

A. To protect someone.

B. To keep oneself warm .

C. Deceive someone by telling
lies.

D To pretend to be blind to the

other person's bad

behaviour.
C
In the following question, out of the
four alternatives, select the
alternative which is the best
substitute of the words/sentence.
A warning of impending danger
A. Naive

B. Monition
C. Obtuse
D. Daft

B

In the following question, out of the
four alternatives, select the
alternative which is the Dbest
substitute of the words/sentence.
Concerned with beauty or the
annreciation of heaiitv
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Ans.
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A. Foul

B. Aesthetic
C. Hideous
D. Gross

In the following question, out of the
four alternatives, select the
alternative which will improve the
bracketed part of the sentence. In
case no improvement is needed,
select "no improvement".

We sat on the floor to eat dinner and
he (appreciate) the fresh food my
mother served.

A. had appreciated
B. appreciated

34 will appreciate
D. no improvement
B

In the following question, out of the
four alternatives, select the
alternative which will improve the
bracketed part of the sentence. In
case no improvement is needed,
select "no improvement".

We sat there (enjoy) the view.

A. enjoyed

B. enjoying

C. enjoys

D. no improvement
B

The question below consists of a set
of labelled sentences. Out of the four
options given, select the most logical
order of the sentences to form a
coherent paragraph.

Life is never meant to

A-country like India

B-be easy, especially if you

C-live in a developing

A. BAC B ACB
C. BCA D. ABC
C

In the following question, four words
are given out of which one word is
correctly spelt. Select the correctly

spelt word.

A. stridancy
B. stridensy
C. stridansy
D. stridency
D

i@ o & U ¥ [Aaedr # &
T esg oA @ giag

A. FR . IRYRAT
B. gaTS STgTal @ 38T
C. THh : "5
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33.

D. FR : Iafa

C
fArAfaf@a ued A v ¥ fawedl & @
T F&ar I 1 giAv|
53:35::?:7

A. 37:73 B. 42:22
C. 16:62 D. 54:43
A

Aefoad 9 # U I Aol &H &
T HET/3ERT 1 g,
PAL : RDP : : MRF : ?

A. FAJ B. KUC
g ouJ D. RPT
C

fArfaf@a vt A U a1 fawedt & &
fawa e oA @1 v

A TgY - Soashell
B. TR - f@RoT
o Fad - LN

D FAGIRT - gy

C

A Row o weat A, wR "ear goA Ru
T () & S 3R & T (1) F et
3R & T FEr @ aw/fAaa O geefad
g I 3 T aF/fAIdE F OUR W
AR g v ™ Apedi d @ B &1
g |
A. 20-30 B.
C. 45-55 D.
D

35-45
25-30

fArafafad ge & RU ¥ TAhodl & &
T I7ER3ERT H AT

A. ROQ B. XWV
. ZYX D. AZX
D

QU I fashedl & &, Asqhl & AR

HIAAT Qe T TATHA ) IFRAIM?

1. Chimney 2. Cherry
3. Childish 4. Chess
5. Chest

Chest

Childish

Chimney

Chess

>00®»

fArfaf@d gt # Qv o fawedl # @
e 3 AT AT,
19, 9, 28, 37, 65, ?
A. 99

— 1N"2

97

1172

)
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C

U Hehd fear I g, Sua @ v g
qed 8 QU 73 Rdedt & & d§ @E
fahed giAT, ST IghA H QR

?

F;'. B. T

U D. Vv
3P TUT IHh! qfge AT aTAA Y 4:3
& qard A g 6 a¥ uREld HE
afeeT qur 38 WIS N MY F I
3:2 grm| AR 3Eh oS T FAAT MY
32 @y g o 3 a¥ geurd JHeW & Y

(@st &) Far geh?

A. 71 B. 68
C. 70 D. 65
A

flr 77 fAshedt & @ dg wsq gfAT S
U I ereg & 3HEWT T AT o T
FATITST FHaT B

A. Men B. Same
C. Start D. State
C

T f3fse &g 9T A “FRAME” &l
“IUDPH”. oI @ Tl g§| 39 HIs W1
# “"ROYAL” &I fhg yoR for@r aem?

A. XVTGM
B. MRDXO
C. XIDPH

D. URBDO
D

e Raa Fs T &, ', @
Jeiia &ear §, '+ '+ A 9eRig adl &
' @ UefRiT #Rar § 3R X -
' F YR aar g Aeafaf@a axar g

FArafaf@a gee &1 33 AT R
15-6+10x3+2="7?

A. 24 B. 9
C. 2 D. 8
D

Arafaf@d  afRor Tea & s9
FHEIOT H TR S & ov Fad ar
gl & 3@ A Ear-acel el

aIfgu?

12+ 10-28 +7 x4 =48
A. + 3R -

B. + 3R+

C. - 3R +
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x 3R -

D
D
afe -4$1 = 4, 7$-7 = 49 IR 331 = -

3, dr -8%$-5 & AT AT Y |

A. -1 B. 92
C. -40 D. -69
C

m#wé:ﬁm%?

ABABAbab, ABABabaB, ABAbabAB,
ABabaBAB, AbabABAB, .

A. aBABABab
B. abaBABAB
G ABABAbab
D. ABABabaB
B

T gIERT gfaor dr 3R 2 fra, e g,
T dg aRE® & NE {3 Far g iR
HEr 4 AL dF Foar g, i 98 3
H WH HS ST § AR I 5 fRAL
deh Tora g, O dg 39e grfgel 3R 73
Srar § 3R 3 4 BF. A T e g
3T T AT & Foraey & 98 39
&el 67

A. 7 &, &AL 3)
B. 3 A W
C. 3 for.aY. gfayor
D. 7 T, gfgor
B

geT H ar Y U = § fSrge 3my ar

fAasey | 3R I @PAFS = § 3muer

AT § T Qe U @ § U aF

HEIT: A gzt @ Bed @a &l

et Aoy e § fr v a3 fosest

#A O Fla-arala @ QARTT 7 T Fua

ZarT | @ ST WA BAwd §, afe

EAER|

FUAl: FS M T FAgew T g

YA |I: F ol THE g §

fsedl: @ef sew e g1 §

foswdll: wofr sisieT sJzow g1 §

A. ool shY | @El ¥

B. Faer fswy 11 TET §

C. gt oy | 3R i Ter §

D. aoar Fsed I TEr g R A
oy 11
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48.

D

frfaf@a mepfd &, 3d coFw @
YeRid Xl §, g Tdeled @ Yeiid
FXar & Bs @E B oveRla war §
AR T Rhade! YaRld adr g| 37aRi
FT HieT /T FHg 31 il T GG el
¥ vuclew & @ry-ary fhdesh 87

% e
oY | s
.

[ =
\ Dyl @
| B

"
e

A. CD B. AB

e FG D EH
A

U g fear ¥ oA @ Us e
qed g QU 73 fakedi & & dF A
fashed giaw, St 3rgha i @ WY
COT, DQU, ESV, FUW, ?

A. GWY B. GVX’
Cs GWX D. GVY
C

Arfaf@d v # O U 7 (el &
¥ oo 3k A I
49, 46, 43, 40, ?, 34

A. 38 B. 37
G 36 D. 39
B

T Ru s wed #, i @At & I
g v & g vAs W A gEd
TEIT Ugel HEAr ¥ fRAr e aw/faus
¥ grefad g da 39T 'k de/fAad &
YR R FA ¢ QU 73 fahedt & @

o=t @1 gy

A. (1,11, 1111)
B. (2, 22, 4444)
C. (4, 44, 4444)
D. (8,88,8888)
B

IfE T guor S MN @1 W @M S dr
ar IR 3R IR H F FleT-Ar mhfa
R 3T & FWET Tifews gref?

M h
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50.

D.
A

fAFfafad 3 3Pfd & & FiaT @ oo
ffr & wead sgfa # @ g w7 @
STAT AT ST Ghar?

CI
X[ H %
3z
O
A.
€2
«
B.
,JkCEB
C. 7ﬁ?
T
00|41
QO o0
D.
C

Tsh Qe hdel TEAT WHE ARl gurdr
T g, ST & et & ¥ Rl v A
fear arar & Redt & R ¥ dEw-
THE e & ar et g@nT gAT I g,
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Sier f& few I & Jmeggh # 8 3eyE-l
& o 3R dfed v d@Ear 0§ 4 3R
3Megg-ll & 5 & 9 §| A Mgl A ThH
HeW H Ugel 3HH dfFd IR ag A
TR HEAT CART AT ST Hevdl &
3geXer & fow L& 21 3R 33 anfg
GaRT aTAT ST HebaT § dAT ‘2 @ 56,
98 3nfe g@rr gefEr T war § s
TE & TS g #H fGU ereg ‘TONB
& foU WHE $ ggHET B

Matrix I
0] 1 2
3 4
0 I K L L
K
1 F E F F
G
2 L B F
H A

3 I| A|I L I

4] E[D|F

M | A
Matrix II
5 6 7 8 9
5|V R| o
Z U
6 | R S| o
W [N
7 | Q T| U |V
U
8 [ Q| T P | X
N
91 Q| Y[V ]|Z]|R
A. 77,69,43,22
B. 11,88,34,55
C. 42.66,12,58
D. 30,65,24,65
A
3 o
{(49)2 +(49) 2} FT AT TAST
117549
A.
343
117550
B.
343
117659
C.
343
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53.
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54,
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55.

Ans.

56.

Ans.
57.

Ans.
58.

117650
343

D
(4)11x(5)°x(3)%x(13)2 " AT
UGS HI Fel TN HiT I H|

A. 30 B. 31
C. 33 D. 32
B
. 15
e & @ Fa @ FT e
\/§+2
JHHIT &7 8?2
A. 5V5-6
B. 5v-30
C. 15v/-30
D. 45/5-30
C

X' & AT @& AuRer fifGw, Iy
x_(943+864)2—(943—864)2

(1886x1728)
A. 1 B. 4
(] 79 D. 1789

A

7 # @ &iT qUdlaT & faehedt ar

97eT b FAETA & IR A F@E 87

A. T T Th gm & faw
3T &

B. FFTUE HI0T FAT g

e T T Ush gEl & ST
g & Fehdll & 3R e of|

D. el fashed Ae &l

D

afg aAeTg B A 39 2v3 cm g,

ar waeTg RS & aAmer (@I A) @

fAuifa &t

A. 6 B. 2V3
C. 4+/3 D. 12
C

Uh WG G JUr dise @
HAA:10% TAT 20% @ TERT T g
3 & &l A fohcel wfderd & gefer

gref?

A. 30% B. 32%
C. 28% D. 33%
B

ofier FEamit #T AT 3:6: 8 B
gfg 3ol UK 9216 &, o o=t

HEIT ST T AT §7
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Ans.

61.

62.

Ans.

63.
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64.

A. 96 B. 72
C. 144 D. 68
D

AfgT & 75000 ¥ & ATA Th AR AF
frar qur Fo #EW geEa @E,
60000 ¥ & |Y 38H J3 S g I

a&%ﬁaﬁw3:1ax3@mair
afaa fear Srar g, O e, afga
¥ el AT geaTd SISr gef?

A. 7 B. 6

C. 8 D. 4

A

TH osh o 1000 ¥ H 50 dlholed
G| e 30 dAfeecH & HEa T
25% & df , AV Tl H AAT AT (T

H) Far g?

A. 10 B. 12.5
C. 15 D. 17.5
B

TH TR W 8 It H ATYRYT SIS
47500 ¥ g| 9ger 5 aut & fow sarer &
X 10% 9fday § aur 3@ 3 asf &
T 15% ufday & I &1 719 (T F )

7 87

A. 50000
B. 60000
., 45000
D. 62500

fordr 4t 1 fasa 7w 1386 ¥ & IW
gl gfaerd 23% &, o T & HI
AT (T &) F41 82

A. 1600 B. 1800
C. 1900 D. 1067
B

Tsh FYX @ 3ifehd FeT 48000 ¥ ¥
aur gc 13% B deH A el
HARFT @ (wfaerd A) & Jfx =ifge
a8 FgeT &1 HeT 39672 & g SA?

A. 10 B. 5
C. 8 D. 9
B

afef@d #§ ¥ Sid avd FIT T
e/e?

L. V144 x 36 <3125 x /121
. 324 +J49>3216x/9

A. &gl |
B. Fad I

Ans.

65.

Ans.

66.

Ans.

67.

Ans.

68.

C. dgar Ia &1l
D. a1 3R 11
B

qisq X U Cohl #AHl 20 €¢ H FX Fohal
€ dur ursy Y 37 &fr #r 35 "¢ H ;W
ThAT g el 9Ieul Hf FR-IRT d Teh-
s He & fAv @er Sar g afe aisy y
H Ygol Grell SATdT g, o ¢hr fohdal 7T

(et #) A al?
A. 269/11
B. 280/11
C. 179/7
D. 172/7
C

Teh YolEMSr 54 o, #Av/eer & afd @ g
W & 450 #Hex A g dT A F g
fehcel @ehs orell?

A. 60 B. 30
C. 45 B. 36
B

Ig IR AH F&T X & et & faganfdat
@ 100 3t dr faaer &r gdawm #
gea R T a3 @@ B
ARG & I3eqgel A AR i@ s
& 3
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Division [ TN

mﬁﬁwmw%mm
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A. F B. B
C. G D. D
C

Ig IR IH FET X & Jait & faganfiar
garT 100 i Hr A @r afiem H
ged R R a3 cufar & e
IR F 3HETTT F 3R Aeafaf@a et
& IW &
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69.

Ans.

70.

Average Science Marks | TPz st w1 shos

Mwn)’ ﬁ

gt D 3R T A & gar urcd Y =
3T 3l 1 eI FAT 872

BEEEEEREE S

A. 4:5 B. 5:4
C. 4:7 D. 7:4
A

TE IR AE F&T X & g9t F At
garT 100 3t dr faamer &r gfewm A
gred R T 3lEa e gfar g
HRE & eI F IR Aeafaf@a veif
F IW 3

Average Scherce Marks | Fwe i siae

=5385:8!.

= B

Biuulm,i!"l
av‘r F& 3Idair C & HPEe _ HA
9
A. 35%
B. 47.25%
C. 45%
D. 43.75%
D

Ig R AE FET X & g9t & faganfiar
garr 100 3 dr fasmer &r ofem
gred R R it 3 gfer B
ARG HT HAIST H AR AeAfaf@a vai
mam

Awerags Sciercs Mark: Jm“ﬂ'm

m tnm.‘ M

e T A F Tl el # uRde A
IFAAHAG AT & faw 5 3 afare

A 5%

B. 11.11%
C. 6.67%
D 10%
Ans. (@

71. aﬁwmaﬁrwa;wﬁmém
Qo &waer: 7 AN 3R 25 A 3k
25 @A g df sEr gRAY (FAHA. H)

EIGECTY

A. 124 B. 36

C. 62 D. 72
Ans. C

72.  Afe v AAfAT sgis # 5 oee § A
3HF TARSP HIUT T AT ST Fg4T 0T
& AT F fohas 33 3 ghem?

A. 60° B. 36°
C. 90° D. 100°
Ans. B
73. 3.5 Q.. §oT d " H HIA (T
.8 #;) AT W
A. 69.845
B. 42.875
(e 19.765
D 11.165
Ans. B

74. AXYZ F Y w gFEIT ¥ IR . IF m<X
=60°,ar (secZ + 2/V3) & A AT

Y
A 4/V3
B (V2+2)/2V2
C. 7/2V3
D 4/2/3
Ans. A

75. AUVW & &IoT V &1 AT 90° g I
tanU = 12/5, 3R UV = 10cm g , ar
ol VW &1 oars (d.0. & ) @=m 87

A. 26 B. 24

C. 25 D. 5
Ans. B
76. Y Fusr fr giarauTcas & ko)

R T ST Fehell &)
A. fash Fow & geeh
B. A F AN B HH A
c gfafaat 1 e
D. JEH  HI HAITHAIT Fr
FHSEAT 3R QT Helr

Ans. D
77. 3pfPe Haf@er &1 31T § i1 TER
a q U Afoa fRar B
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82.
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Ans.
83.

Ans.
84.

& frerer@l & Aedr g7
A Sitae g

B akes Afa

C faeer Aifa

D st e Ter &
D

A =T B AT
C. qelatrelr D Ei)
C

gt & frw smT 7 fdd 3R e #
ST &2

A. IGRIGE

AT
o

B.
C.
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